OPERATOR - BY OTHER
o

o FENCE LINE - BY OTHER |<:>| o :@ DOUBLE TRACK AL. TRACK]
L . ~ - ————— 1-1/2"x 1-1/2" SQ. AL.
) SUPPORT pOST,—/—: LATCH POST ‘ 5 L U-CHANNEL
16' (COUNTERBALANCE) 35' (OPENING) ‘ === ??%/f 1" 16GA PICKET
SECURE TRAC CANTILEVER GATE - LAFAYETTE . 252" 5Q. AL UPRIGHT
PLAN 1/8"=1'-0" T
514" 4" TYP.
16' COUNTER BALANCE 35' OPENING 4RAIL w_A1 A"
TOP TRUCK ASSEMBLY - SEE DETAIL—| DETAI L 1 /2 =1 -0
TRACK HORIZONTAL SPLICE - SEE: -\
DETAIL 4" SQUARE POST w/ CAP
E o :‘1* SE$X|IL’\‘UM RAIL - SEE ALUMINUM TRACK
SQ: i:=— 2x2 SQ. AL. UPRIGHT ig;l.ﬂsgtswe TRUCK
8 } TOP TRUCK BRACKET
E gi } 4" SQUARE POST
E & e ;LEJE%BEL%%LE ASSEMBLY
- |
© = =—===oq
2' 8 BOTTOM RAIL HORIZONTAL SPLICE CONCRETE - BY OTHER TOP TRUC'I'(_A\'S§EMBLY
sie SEE DETAL SECURE TRAC CANTILEVER GATE - LAFAYETTE DETAIL 1/2"=1-0" 41 3
> BOTION GUDE ASSEVELY St ELEVATION - OUTSIDE LOOKING IN 1/8"=1"-0 4 saunse posT—T— |7
2 2" SQ. AL. UPRIGHT ALUMINUM TRACK - SEE’—-’—"ﬂ
v — 2" SQ.x1" TUBULAR SPACER DETAILL c? B df—p
TOP TRUCK BRACKET —1__] L L
\ 3/8"x6” MACHINE BOLT 1/4' @ STAINLESS STEEL 2x2 SQ. AL. UPRIGHT ,’;— |=q |
24°xd 1/2°1/2" AL. PLATE || 2'x4" HOLLOW AL. SPLICE A e s B |
AND GUSSET GAP PROTECTOR FROM—]
WELD ON OPENING S\DE/—T LEJ = = % LEJ LEJ ‘ / 2"x4" AL. BOTTOM RAIL TOP OF BOTTOM GUIDE
2'x4" SOLID AL. SPL\CE’/EJ/ / / 3/8"'x3" MACHINE BOLT l'><//_/2"XQGA EXTRUDED FABRIC OFA ?ggvrﬁbf:;%g%lgg
3/8"x3 1/2" MACHINE BOLT ‘ r«ﬁk 7@ — Q7 e = f,‘i’{q, ﬂﬁﬁ ‘ (—— TURNBUCKLE ITr\‘tESJQIE;ﬁ Ea)/mgg
ALUMINUM DOUBLE TRACK | % no | noon % “ | AL GussET
|~ 4F*H7+‘777: = z pi% 2" AL. SQ. UPRIGHT 2x4 AL. BOTTOM RAIL —
2" SQ.x1" TUBULAR SPACER ‘ T T E ElG ‘ % J = b— |
3/8"x6" MACHINE BOLT/ = ' . :\1 "x16 GA AL. PICKET BOTTOM GUIDE ROLLER —1
2" AL. SQUARE NOTE: PICKETS OMITTED FOR CLARITY NOTE: PICKETS & FABRIC OA}I'F?ED FOR CLARITY \2"){4" AL. BOTTOM RAIL ASSENBLY
TRACK HORIZONTAL SPLICE BOTTOM RAIL HORIZONTAL SPLICE TURNBUCKLE ASSEMBLY BOTTOM GUIDE ASSEMBLY
NOTES: DETAIL 1"=1'-0" DETAIL 1"=1'-0" DETAIL 1/2"=1'-0" DETAIL 1/2"=1'-0"
OPENING COUNTERBALANCE
1. SPECIFICATIONS SHOWN CAN BE CHANGED BY THE MANUFACTURER ONLY. e S
2. ALL COMPONENTS OF THE GATE TO BE COATED BLACK. OTHER COLORS AVAILABLE. TO INSIDE FACE OF | TO OUTSIDE FACE OF
3. VERIFY POST DEPTH AND FOOTING DIMENSIONS WITH LOCAL CODES AND SITE CONDITIONS. e el
4. CUSTOM DIMENSIONS ARE AVAILABLE UPON REQUEST. 0 140" T
5. OUTSIDE LOOKING IN, GATE LATCHES ON (RIGHT AS SHOWN). e e
6. GATE OPENINGS OVER 40' WILL REQUIRE ADDITIONAL SUPPORT. 3107400 160"
7. OPENINGS OVER 30' REQUIRE A FIELD SPLICE AND DOUBLE TRACK (AS SHOWN). GATE 407> 5070 20

OPENINGS 30' OR LESS DO NOT REQUIRE A FIELD SPLICE AND ONLY REQUIRE A SINGLE

ALUMINUM TRACK AND 2 SUPPORT POSTS.

PRESSED POINT PICKET

FOR OVERALL LENGTH OF GATE.

ADD 4" TO COUNTER BALANCE AND OPENING

ALL RIGHTS RESERVED

®

SECURE TRAC CANTILEVER SLIDE GATE
LAFAYETTE -2 -4 RAILS

| ' COPYRIGHT © MERCHANTS METALS

Merchants Metals

the first name in fence solutions

10' TO 50' WIDE OPENING x 6' TO 8' HIGH
(Nom.Dimension)

BY: J.R. DWG. NO.
L Pve— ST CG LF 10-50WX6-8H
" DD AS NOTED




